Die Hiailfte von (bis 50) -

v
©
Qe

Halbieren

30 - 2 48 — 3 38 —»

4 34 — 5 34 —» s 14 —

6 = s 6 — o 44 —

1020 - 11.30 - 12.42 —

13.28 — 14 48 — 1518 —

6. 40 — 17.46 — 1. 48 —

9.2 = 2030 - 2.2 =

2.50 - 310 —» 0428 —

5 46 — 26.32 — 27.36 —

8. 26 — 9 46 — 3032 —»
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Die Hdilfte von (bis 50) | ANTWORTEN

Halbieren

0.20 - 10 130 —» 15 242 —» 21

228 » 14 4 48 — 24 518 » 9

v 40 — 20 7 46 — 23 5 48 > 24

9.2 = 1 030 > 15 27 2 - 1

» 50 —» 25 510 —» 5 2428 > 14

s 46 — 23 26.32 > 16 7. 36 —» 18

5 26 — 13 0 46 5 23 5032 » 16

6 > 3 2.8 > 4 3.2 » 1
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